National Level Science T:.__;lf_-- -
Search Examination - 2012 ' -

A Mathematics_

nWhatmeMWcuﬁvewimmnbarstdiffmg

is 2 called ?
(A) Twin primes (B) Even primes
(C) Co - primes . (D) Odd primes
The drawing below is an input - output machine.

Using this machine, when the input is 1500, what is the outpui?
(A) 1600 (B) 4000 (€) 4950 (D) 8000
Mukram buys 15 sandwiches at ¥ 225. How much amount

Irfan has to pay to buy 21 such sandwiches?
(A)X 205 (B)T 215 (€)X 305 (D)X 315

What is the place value of 3 in the sum of 5.25 and 3.38?

3 3
e . TR 0
(A) 10 (B) 100 ©) 1000 (D)
What is the L.C.M. of 50, 70 and 30?
(A) 10 (B) 75 (C) 1050 (D) 2050

n The product of L.C.M. and H.C.F. of two numbers is 285.
If one number is 15, then find the other number.
(A)15 (B) 16 (C) 18 (D) 19

What number should be added to 73420 to get 913692
(A) 17949 (B)27949  (C) 21949 (D) 104789






















































